

Office Of The Executive Engineer Rural Works Department, Works Division, Phulparas, Madhubani,

Supplementry- Agreement No:-45 S80/2019-20.

Name of the Work :-

Construction of Road & CD works from (1). "Rahmaniya Tol To Hudra"(2) "Ghormohna Rajdev Yadav Ghar to Bishanpur Goth"

(UNDER MMGSY-WB)

Name of the Agency :- M/S Jadubansh Kumar Singh. Villa

Budhhkara, Post- Tehwara, Distt- Muzaffarpur.

Bihar. PIN- 847103

Agreement Amount

(Construction with Maintenance) :- Rupees. 1,12,83,517=00 (One

Crore Twelve Lacs Eighty Three Thousand Five Hundred Seventeen) Only.

Rate Quated:- 0.03% Below Rate.

Total Earnest Money Deposit
(With additional performance security):- Rs.-

Date of Start :-

Date of Completion:-

EXECUTIVE FURNIERS

BEAUTIVE FURNIERS

BEAUTIVE FURNIERS

BEAUTIVE FURNIERS

M/S JADUBANSH KUMAR SD'GH

Nadu bansh brumer singe

PARTNER



(instructions to Bidders, clause 26)

Standard Form: Agreement

Supplementary Agreement Attached With Agreement no:- 45 SBD/ 2019-20

This agreement made the

BetweenEE RWD, Work Division-phulparas...............[Name & Address of employer] (hereinafter called "the Employer") of the one part, and M/S Jadubansh Kumar Singh. Village- Budhhkara, Post- Tehwara, Distt- Muzaffarpur. Bihar PIN- 847103. (Name and address of contractor,) hereinafter called "the contracter" of the other part). Whereas the employer is desirous that the contractor,

Construction of Road & CD works from Construction of Road & CD works from (1). "Rahmaniya Tol To Hudra"(2) "Ghormohna Rajdev Yadav Ghar to Bishanpur Goth" (UNDER MMGSY- WB). [name and identification number of contract] (hereinafter called "the works") and the employer has accepted the Bid by the contractor for the execution and completion of such works and the remedying of any defects therein at a cost of Rs. = Rupees. 1,12,83,517=00 (One Crore Twelve Lacs Eighty Three Thousand Five Hundred Seventeen) Only.

M/S JADUBANSH KUMAR SIPGH

Yadu bansh kumar siin

PARTNER

RWD W Division Phulparas



NAME OF WORK: CONSTRUCTION OF ROAD & CD WORKS UNDER MMGSY WB YOJNA

RAHMANIYA TOL TO HUDRA,

IS A LINK ROAD WITH LINK NO S038

-	ancion (110 d.	The state of the s	HUTAUN	1	LENGTH: 2.	4LI Ku
		No.or		Esti	mated Rate	AMOUNT
7	Description of work	Qty.	Unit -	Figure	Words	Rs.
	Earth work in excavation of foundation of structures as per drawing and technical specification Clause 1104, including setting out,construction of shoring and bracing, removal of stumps and other deleterious matter, dressing of sides and bottom and backfilling with approved material.	188.8555	Cum	261.90	Rupees Two Hundred Sixty One And Ninety Paise Only	49461.00
	providing concrete for plain/reinforced concrete in open foundations complete as per drawing and Technical specifications Clause 802, 803, 1202, & 1203. [1] PCC Grade M-10	75.1410	Cum	6,560.75	Rupees Six Thousand Five Hundred Sixty And Seventy Five Palse Only	492981.00
	Plain/reinforced cement concrete in substructure complete as per drawings and technical specification Clauses 802, 804, 805, 806, 807, 1202 ans 1204 (II) PCC Grade M-15	141,5913	Cum	6,804.57	Rupees Six Thousand Eight Hundred Four And Fifty Seven Paise Only	963468.00
	Providing & Laying ISI mark* Cement Concrete hume Pipe (burried conduits) on first class bedding of granular material including fixing collar with cement sand mortar 1:2 but excluding excavation, protection works, backfilling, concrete and masonary work in head wall and parapets (* See general notes)	60.0000	Rm	3,650.11	Rupees Three Thousand Six Hundred Fifty And Eleven Palse Only	219007.00
	Fillling in foundation trenches as per drawing and technical specification Clause 305.3.9	43.8750	Cum	459.68	Rupees Four Hundred Fifty Nine And Sixty Eight Paise Only	20168.00
6	(I) Sand Filling Granular Sub-base with Well Graded Material (Table 400.1)Construction of granular sub-base by providing well graded material, spreading in uniform layers with tractor mounted grader arrangement on prepared surface, mixing by mix in place method with rotavator at OMC, and compacting with smooth wheel roller to achieve the desired density, complete as per Technical Specification Clause 401.	21.9375	Cum	3,153.30	Rupees Three Thousand One Hundred Fifty Three And Thirty Paise Only	69176.00
7	Water Bound Macadam with Stone Screening Type "B" Gr- IIIWBM Grading a Providing, laying, spreading and compacting stone aggregates of specific size: to water bound macadam specification including spreading in uniform thickness, hand packing, rolling with smooth wheel roller 80-100 kN in stages to proper grade and camber, applying and brooming, stone screening to fill-up the interstices of coarse aggregate, watering and compacting to the stage of the stage	16.4531 B	Cum	3,924.77	Rupees Three Thousand Nine Hundred Twenty Four And Seventy Seven Paise Only	64575.00
8	Construction of un-reinforced, dowel jointed at expansion and construction joint only, plain cement concrete pavement, thickness as per design, over prepared sub base, with 43 grade cement or any other type as per Claus 1501.2.2 M30 (Grade), coarse and fine aggregates conforming to IS:383 maximum size of coarse aggregate not exceeding 25 mm, dowel bars 25mm dia and 500mm long @25cm c/c or as per design, mixed in a concrete mixe of not less than 0.2 cum capacity and appropriate weigh batcher using approved mix design, laid in approved fixed side formwork (steel channe approved mix design, laid in approved fixed side formwork (steel channe).	e e d, n n n n n n n n n n n n n n n n n n	Cum	8,018.88	Rupees Eight Thousand Eighteen And Eighty Eight Paise Only	281463.00
	Supplying, fitting, and placing HYSD bar reinforcement in superstructure complete as per drawing and technical specifications Clauses 1002, 1010 at 1202	/	Cum	71,680.03	Thousand Six Hundred Eighty And Three Paise Only	1649.00
1	Providing and laying boulder apron for bed protection with stone boulders minimum size and weight as per Table 1300.1, no fragment weighing le than 25 kg laid dry complete as per drawing and technical specification	ns 31.6000	Cum	3,342.13		106280.00
	Clause 1301 Earthwork in excavation for structures as per drawing and technic specifications Clause 305.1 including setting out, construction of shoring a bracing, removal of stumps and other deleterions material and disposal up a lead of 50 m, dressing of sides and bottom and backfilling in trenches we propagated suitable material.	oto 316.8000	Cum	261.90	Rupees Two Hundred Sixty One And Ninety Paise Only	82970.00
	Providing PCC M 15 (1:2.5:5) concrete for plain concrete in open foundation complete as per drawings and technical specifications Clause 802, 803, 12 & 1203	ons 202 31,6800	Cum	6,286.17	Rupees Six Thousand Two Hundred Eighty Six And Seventeen Paise Only	
	Plain/reinforced cement concrete in substructure complete as per drawi and technical specification Clauses 802, 804, 805, 806, 807, 1202 ans 120 M20)	ngs 94 (233.640)	Cum	7,233.16	Rupees Seven Thousand Two Hundred Thirty Three And Sixteen Paise Only	1689956.0

M/S JADUBANSH KUMAR SIT'GH

Yadu bansh kumar sin

PARTNER

Qu

Approved as Corrected

S.E.

R.W.D., Works Circle Darbhanga

LENGTH: 2.421 KM	
Rs. Rs. 28643.00 alse	
ed Six 22465.00	
and ty Palse 26854.00	
red d 9483.00 lly	
red lifty 25825.00	
red ety 1179.00	
sand One 63033.00 red	
Fifty 4296.00 ly 4422078.00	
4422078.0	
nd Seventy Eight O	
Filst din	

A/A = P8 210. 49 lacs T/S = P8 251.27 lacs Net amount = 8 4421945.3

26 lio/22

Executive Engineer Rural Works Department Works Division Phulparas

Revised BOQ approved for 184421945.00 (Is forty four--lacs twenty one thousand nine hundred and forty -five) only

MS JADUBANSH KUMAR SD'GH Yadu bansh kumar si ki

PARTNER

R.W.D. Works Circle
Darbhanga

NAN TILLY